
0989-A	 MyGlassTruck.com 

Installation instructions for

Pole Holder
 

MyGlassTruck.com			 

1-844-364-4022



Pole Holder Installation Instructions  
myglasstruck.com   |   1-844-364-4022 

TOOLS & HARDWARE

	 Install Optional Pole Holder 	

1. Locate which side pole holder 
should be installed (left or right 
side of rack)

2.	Determine height on outside post 
to install pole holder 

	  
Note: Be sure pole holder will 
not block the door or any other 
moving parts on vehicle

0989-A

INSTALL POLE HOLDER

Supplied Hardware Qty.

MGT Pole Holder Assembly 1

10" Vertical Rubber	Padding 1

5/16-18 x 2-1/4” Bolts 2

5/16-18 Nuts	 2

5/16” ID flat washers 2

5/16” ID spring locking washers	 2

Required Tools: 

Drill

11/32” drill bit

½” Wrench

½” Socket/ratchet



Pole Holder Installation Instructions  
myglasstruck.com   |   1-844-364-4022 

	 Install Optional Pole Holder 	

3.	Use pole holder itself as a 
template to mark (2) holes to be 
drilled 4-3/4” apart.

4.	Drill holes at marked locations 
with 11/32” drill bit

5.	Fit pole holder to post and check 
alignment of holes

0989-A



Pole Holder Installation Instructions  
myglasstruck.com   |   1-844-364-4022 

	 Install Optional Pole Holder 	

6.	Fasten pole holder to post with 
supplied 5/16” hardware, inserting 
the bolt from the outside of the 
rack.

7.	Tighten with ½” wrench / sockets.

8.	Install MGT rubber into 
rectangular slot 

	 Pole holder installed.

0989-A


